Most often, endemic goiter develops in teenagers during puberty in the restructuring of the endocrine system. What trace element prevents the development of this disease?

А. Fe.

В. I.
С. S.

D. Se.

E. Cu
The patient entered the hospital with a diagnosis of acute pancreatitis. Activity of any of the following termed serum enzymes will be raised?
А. alfa- amylase.

В. LDH.
С. AP.

Д. SDH.

Е. Acid phosphatase.
The patient entered the hospital with a diagnosis of acute pancreatitis. What laboratory tests do not correspond to diagnosis?
А. Increased amylase activity begins within 3-6 hours after onset of illness.

В. Serum amylase activity is maximal in 20-30 hours after onset of illness.
С. Trypsin activity is increased in blood and urine.

Д. Creatine kinase activity increased during the first day of the disease.
Е. The activity of creatinine and urea increased.
A child of 2 years after infective enteritis appeared vomiting, diarrhea, abdominal pain. After exclusion of milk from the diet all symptoms disappeared. Indicate the possible cause of pathology:
А. Reduced synthesis of pancreatic amylase.

В. Reduced synthesis of sucrose.
С. Hereditary deficiency of lactase.

Д. Acquired lactase deficiency.

Е. Acquired deficiency of maltase.
Patient 3 years after gastrectomy appeared weakness, dizziness, diarrhea, swelling of the legs. Atrophy of the gastric mucosa revealed. The concentration of hemoglobin in the blood is - 90 g / l, color index - 1,0. Macrocytic anemia diagnosed. What was the cause of pathology?
А. Iron deficiency.

В. Lack of erythropoietin.

С. Copper deficiency.

Д. Deficiency of Castle΄s factor.

Е. Folic acid deficiency.
The patient has reduced bicarbonate secretion by pancreas. The secretion of lipase and colipase is normal, but developed steatorrhea. Choose the correct answer regarding the role of bicarbonates:
А. Emulsified fats.

В. Inhibit pancreatic lipase.
С. Inhibit pancreatic colipase.

Д. Create the optimum pH for the activity of pancreatic lipase and increase the ionization of bile acids.

Е. Create the optimum pH for the activity of pancreatic lipase and reduces the ionization of bile acids.
Which of the below mentioned diseases characterized by a significant decrease in formation of acid in the stomach?
А. Duodenal ulcer.
В. Chronic hypertrophic gastritis.
С. Chronic colitis.

Д. Gastric ulcer.

Е. Chronic atrophic gastritis.
Which of the following diseases characterized by a significant increase in the synthesis of acid in the stomach?
А. Gastric ulcer.
В. Acute gastritis.
С. Chronic atrophic gastritis.

Д. Duodenitis.

Е. Cholecystitis.
Which  statement corresponds to the term "Ahilya"?
А. Lack of hydrochloric acid.
В. Lack of hydrochloric acid and pepsin.

С. The absence of pepsin.

Д. The absence of gastrin.

Е. Lack of hydrochloric acid and secretin.
 The patient complains of stomach pains. The examination revealed hyperchlorhydrya, gastric ulcer. Helicobacter pylori was found in gastro biopsy. What is an enzyme produced by these microorganisms and leads to structural changes of gastric mucosa?
А. Urease.
В. LDH.

С. AST.

Д. AST.

Е. Carbonic anhydrase.
The patient has flatulence, stomach discomfort, belching. Study of gastric secretory function showed: hypoacidity, pH of the basal secretion - 3,2; pH stimulated secretion - 2,8. Which enzyme activity is reduced and leads to a change in the process of digestion in the stomach?
А. Peptidase.
В. Pepsin.
С. Amylase.

Д. Lipase.

Е. Carbonic anhydrase.
12. The patient complains of stomach pain, loss of appetite, weakness. Uropepsin content in the urine increased (0,29g/l). These changes are characteristic of what disease?
А. Duodenal ulcer.
В. Hypoacidic chronic gastritis.

С. Acute pancreatitis.

Д. Pernicious anemia.

Е. Chronic pyelonephritis.
The patient has pain in his left hypochondrium. Hypochromic anemia was found, erythrocyte sedimentation rate increased. Amylase, trypsin and chymotrypsin activity decreased in the duodenal contents. What is the pathology of the patient has?
А. Mucoviscidosis.
В. Pancreatic cancer.

С. Acute pancreatitis.

Д. Chronic pancreatitis.

Е. Duodenitis.
The patient has a clinical picture of chronic pancreatitis. What is the cause of this pathology?
А. Synthesis of pancreatic enzymes increased.
В. Synthesis of pancreatic enzymes decrease.

С. Deficiency of bile acids in the small intestine.
Д. Violation of the mixing of enzymes with the chyme.

Е. Reducing the concentration of enzymes due to their dilution.
The patient has severe abdominal pain, nausea, vomiting. The preliminary diagnosis is acute pancreatitis. Which laboratory test should be used to confirm the diagnosis?
А. ALT.
В. Complete blood count.

С. Bilirubin in the blood.

Д. Glucose levels in blood and urine.

Е. Blood and urine diastase.
 What laboratory tests are necessary for the diagnosis of pancreatic diseases?
А. AST.
В. Amylase.

С. Lipase.

Д. Trypsin.

Е. All answers are correct.
What laboratory tests are necessary for the diagnosis of pancreatic diseases?
А. AST.
В. Amylase.

С. Lipase.

Д. Trypsin.

Е. All answers are correct.
Which laboratory test used to determine the blood in gastric juice?
А. Thymol test.
В. Benzidine test.

С. Trommer΄s reaction.

Д. Quick test.

Е. Uffelman΄s test
Which laboratory test used to determine the lactic acid in blood?
А. Thymol test.
В. Benzidine test.

С. Trommer΄s reaction.

Д. Quick test.

Е. Uffelman΄s test
During secretin-holecystokinin test can identify all of the following indexes, except:
А. The volume of pancreatic juice.

В. Concentration of hydrochloric acid.

С. Volume of gastric juice.

Д. Concentration of bicarbonates.

Е. Amylase and trypsin activity.
What is the marker used for diagnosis of primary liver cancer?
А. ALT activity.

В. alfa-fetoprotein.

С. gamma-GTP.

Д. Alkaline phosphatase activity.

Е. Paraproteins.

MTX (methotrexate) - antitumor agent assigned to the patient. However, by the time the tumor cells lost sensitivity to it. What gene amplification led to this?
А. Thioredoxin reductase.
В. Metallothionein.

С. Dihydrofolate reductase.

Д. Ribonucleotide reductase.

Е. Methemoglobin reductase.

Iisolated tumor was detected on the skin of the patient. Fibroma diagnosed. Which nucleotides synthesis will decrease?
А. dAMP.
В. dTMP.

С. ATP.

Д. UMP.

Е. CMP.

Patients with pigmental xeroderma have an increased sensitivity to ultraviolet radiation, which leads to the development of skin cancer. The reason is the inability of enzymes to recover the damages of hereditary apparatus of cells. What process violation is the basis of this pathology?
А. Gene conversion.
В. Recombination of DNA.

С. Genetic complementation.

Д. DNA repair.

Е. Reduplication of DNA.

Renal failure may develop in patients with malignancy. Indicate the possible causes of such changes.
А. Hypercalcemia.

В. Bence-Jones proteinuria.

С. Hyperuricemia.

Д. Nephrotoxicity of cytostatics.

Е. All answers are correct.
What enzyme is used as a diagnostic test for tumors and metastases of prostate?
А. Alkaline phosphatase.

В. Acid phosphatase.
С. AST.

Д. Amylase.

Е. Fructose-1-phosphate aldolase.
Determination of the concentration of serotonin in the blood is a informative test in the diagnosis of carcinoma of the stomach, intestines and lungs. Its concentration increases by 5-10 times. Product of serotonin catabolism is excreted in urine. Name it.
А. 5-hydroxy-indole-acetic acid.

В. Seromukoid.
С. Vanillylmandelic acid.

Д. Para-hydroxy-phenyllactic acid.

Е. Di-hydroxy-phenylalanine.
The cause of pigmental xeroderma is an inherited deficiency of the enzyme UV endonuclease. What process is broken?
А. Translation.

В. DNA replication.

С. Transcription.

Д. Reverse transcription.

Е. DNA repair.
After a prostate surgery the patient had a course of radiation and chemotherapy. 5-fluoro-deoxyuridine as an irreversible inhibitor tyimidylate synthetase was used. Which from following syntheses this drug will block?
А. Protein.

В. mRNA.

С. rRNA.

Д. tRNA.

Е. DNA.
Cancer patients during chemotherapy was prescribed antibiotics azaserin as a structural analog of glutamine. This drug is an inhibitor of the synthesis of purine nucleotides. What is the mechanism of inhibitory action has azoserin?
А. Irreversible.

В. Noncompetitive.

С. Competition-free.

Д. Allosteric.

Е. Competitive.
Appointment of anticancer drugs to cancer patients for a long time leads to the development of resistance of target cells to them. What process is the basis of this phenomenon?
А. Amplification of genes.

В. Recombination of genes.

С. Gene expression.

Д. Mutation of genes.

Е. Modification of genes.
The patient was hospitalized with a preliminary diagnosis - myocardial infarction. Biochemical analysis of blood showed high activity of AST and ALT, the coefficient of de Ritis equal to 3.85. What enzyme activity will also be increased?
А. Alkaline phosphatase.

В. CPK.

С. CE.

Д. Acid phosphatase.

Е. GGTP.
The patient was hospitalized with a preliminary diagnosis - myocardial infarction. What changes in LDH activity detected by laboratory examination?
А. A significant increase in activity in the first 2 days of onset of illness and normalization on day 4.

В. Increased activity of the enzyme in the first 2 days of onset of illness and the preservation of its high activity for 2 weeks.

С. Reduction in enzyme activity after 12-24 hours of onset of illness.

Д. The maximum increase in the activity of the enzyme for 12-24 hour from the onset of illness.

Е. Start increasing the enzyme activity after 2-4 hours of onset of illness.
The patient had an acute uncomplicated myocardial infarction. Determination of AST activity in blood is used for monitoring treatment. What is the time when the enzyme activity should be normal?
А. Until the end of the first day.

В. After 2 days.

С. After 3-5 days.

Д. After 10-12 days.

Е. On the third week.
On what day will be the normalization of LDH activity in serum of patients with a favorable course of myocardial infarction?
А. After 21 days.

В. After 28 days.

С. After 10-15 days.

Д. After 3-5 days.

Е. After 5-7 days.
At what disease the content of sialic acids in blood serum increases?
А. Inflammatory processes.

В. Tumors.

С. Myocardial infarction.

Д. Pneumonia.

Е. All answers are correct.
Level of sialic acid in the blood serum shows:

А. Activation of fibrinolysis.

В. The degree of inflammatory and destructive processes.

С. The degree of hemolysis.

Д. The degree of platelet aggregation.

Е. Proliferation of fibroblasts.
What are the changes of biochemical parameters characterize the destructive phase of inflammation?
А. High leukocytosis.

В. High activity of proteolytic enzymes.

С. The high activity of hydrolytic enzymes.

Д. The increase in DNA synthesis.

С. All answers are correct.
The patient had an inflammatory process. What are the biochemical parameters to recommend to verify the diagnosis?
А. Leukocytic formula.

В. Protein fractions.

С. C-reactive protein.

Д. The rate of erythrocyte sedimentation.

Е. All answers are correct.
What is the advantage of determining myoglobin in myocardial infarction?
А. Early diagnosis of myocardial infarction.

В. Ability to control the treatment of the disease at an early stage.

С. Ability to diagnose reinfarction.

Д. Determination of blood and urine.

Е. All answers are correct.
At  what concentration of glucose in the blood may appear in the urine if kidneys work properly?
А. 10.5 mmol / l
В. 3.3 mmol / l
С. 12 mmol / l
Д. 1.5 mmol / l
Е. 8.5 mmol / l
What is the concentration of glucose in the blood responsible to renal threshold?
А. 3.5 mmol / l
В. 3.3 mmol / l
С. 12 mmol / l
Д. 1.5 mmol / l
Е. 8.5 mmol / l
The patient M., 38 years old, unconscious. Reflexes are absent. Blood glucose level is 2.1 mmol / l. In history: diabetes for 20 years. What is in coma patient?
А. Laktatacidemic.
В. Ketoacidemic.
С. Hypoglycemic.
Д. Hypoosmotic.
Е. Hypoglycemic.
Which symptom is not specific for diabetes:
А. Polydipsia.
В. Polyuria.
С. Ketonemia.
Д. Hypolipidemia.
Е. Glucosuria.
The patient N., 21 years old, delivered by ambulance. With mother's words, last month daughter thin, there were abdominal pain, vomiting, increased thirst. The patient is unconscious, the skin is pale gray, dry, muscles turgor is reduce, pupils are narrowed. Breathing is noisy and deep, the smell of acetone in breathed air. Heart beat is weak. Pulse is 92 beats / min, rhythmic. Arterial pressure is 80/50 mm Hg column. Blood glucose is 19 mg / l. What is the immediate situation of the patient?
А. Hyperglycemic,  ketoacidemic coma.
В. Hyperglycemic, nonacidemic (hypoosmotic) coma.
С. Hepatic coma.
Д. Hypoglycemic coma.
Е. Lactoacidemic coma.

What is the physiological cause of hyperglycemia?

А. Diabetes mellitus.
В. Diabetes insipidus.
С. Consumption of carbohydrate-rich foods.
Д. The heavy physical work.
Е. Deficiency of proteins.
What biochemical parameter of blood is specific for diabetes?
А. Hypolipidemia.
В. Hypocalcemia.
С. Hyperkalemia.
Д. Ketonemia.
Е. Reduction the concentration of contrinsular hormones.
What provokes the development of cataracts under diabetes mellitus?
А. Amination of pyruvate
В. Hypercholesterolemia.
С. Crystallin glycosylation
Д. Hyperlipidemia.
Е. Ketonemia.
Which proteins glycosylation can occur in diabetics?
А. Collagen.
В. Hemoglobin.
С. Crystallin.
Д. Prorenin.
Е. All answers are correct.

What belongs to the pathogenesis of type I diabetes?

А. Increased concentration of insulin.
В. Obesity.
С. Ketonemia.
Д. Hypoglycemia.
Е. Reducing of plasma osmolarity.
The causes of hypoglycemia are all listed, except:
А. Starvation.
В. Prolonged physical activity.
С. Hyperinsulinemia.
Д. Cushing's syndrome.
Е. Glycogen storage diseases.
The causes of hypoglycemia are all listed, except:
А. Insulinoma.
В. Consumption of large doses of alcohol.
С. Acromegaly.
Д. Addison's disease.
Е. Galactosemia.
The patient is in hospital with a diagnosis of diabetes mellitus. Level C-peptide was determined by laboratory examination. What is the purpose of this laboratory research?
А. To assess the insulin-synthesizing (endocrine) function of the pancreas.
В. To evaluate the content of contrinsular hormones.
С. To assess the level of plasma proteins glycosylation.
Д. For the diagnosis of vascular lesions.
Е. For the diagnosis diabetes mellitus.
What does the presence of ketone bodies in the urine of patients with diabetes mellitus?
А. Disease severity.
В. The value of the renal threshold for glucose.
С. Duration of illness.
Д. The severity of angiopathy.
Е. The degree of kidney damage.

From the patient's history is well known that some relatives were ill with diabetes. He was appointed to the sugar load test. What is the result of the glucose concentration in the patient's blood may correspond to a diagnosis of diabetes mellitus?

А. Fasting and 2 hours after glucose load - 5,5 mmol / l.
В. Fasting - 6,5 mmol / l and 2 hours after glucose load - 7,4 mmol / l.
С. Fasting - 8,1 mmol / l and 2 hours after glucose load - 11 mmol / l.
Д. Blood glucose level does not change during the sugar load.
Е. Fasting and 2 hours after glucose load - 6,7 mmol / l.

The patient had oral loading test with glucose. Indicate where the concentration of glucose in whole venous blood during this study can be diagnosed: "violation of glucose tolerance”?

А. Fasting - 5,0 mmol / l and 2 hours after glucose load - 6,4 mmol / l.
В. Fasting - 6,0 mmol / l and 2 hours after glucose load - 8,7 mmol / l.
С. Fasting - 6,9 mmol / l and 2 hours after glucose load - 11.3 mmol / l.
Д. Blood glucose level does not change during the sugar load.
Е. Fasting and 2 hours after glucose load - 6,1 mmol / l.

In patients with diabetes concentration of glycosylated hemoglobin identifyed. What does this index?
А. The content of glucose in the blood during the last 7-14 days.
В. The severity of liver damage.
С. The expression of diabetic angiopathy.
Д. The average glucose level for the previous 4-8 weeks.
Е. The level of hyperglycemia after meals.

In a patient with diabetes is defined mіkroalbuminemia. This biochemical parametr of diabetes shows indicates:
А. Degree of glycosylation of plasma proteins.
В. The development of diabetic nephropathy.
С. Orthostatic proteinuria.
Д. Prerenal cause of proteinuria.
Е. Excess albumin synthesis.
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The patient has tissue edema, hypernatraemia. Which hormone secretion imbalance is the cause of water-salt disturbance?
А. Aldosterone.
В. Cortisol.
С. Corticosteron.
Д. Adrenaline.
Е. Glucagon.
Choose the correct answer. How the concentration of potassium in blood serum will change under disorders of acid-base balance?
А. Increases under alkalosis.
В. Reduced under acidosis.
С. Increases under acidosis and decreases under alkalosis.
Д. Decreases under acidosis and increases under alkalosis.
Е. No changes under acidosis and alkalosis.
All below listed mechanisms are used to compensate of metabolic acidosis, except:
А. Reabsorption of bicarbonate.
В. Excretion of free acids.
С. Excretion of ammonium salts.
Д. Excretion of alkaline phosphate.
Е. Hyperventilation.
Compensation for metabolic alkalosis is due to all mechanisms, except:
А. Increased of sodium hydrocarbon excretion with urine.
В. Increase the volume of lung ventilation.
С. Exchange of chlorine and bicarbonate between cells and plasma.
Д. Increasing partial pressure of carbon dioxide.
Е. Reduction of respiratory center sensitivity to carbon dioxide.
Patient I. has 39 years old, miner. Diagnosis: chronic bronchitis . Exacerbation of emphysema in the stage of decompensation. Pulmonary heart. Circulatory failure the third degree. Bronchopneumonia. Parameters of acid-base balance: pH = 7,18; ρCO2 = 101 mm Hg; SB = 22 mmol/l; AB = 34,1 mmol/l; BB = 51 mmol/ l; BE = -2,8 mmol/l. What form of acid-base balance disturbance patient has?
А. Decompensated respiratory acidosis.
В. Decompensated respiratory alkalosis.
С. Decompensated metabolic acidosis.
Д. Decompensated metabolic alkalosis.
Е. Subcompensated respiratory alkalosis.
What type of acid-base balance will be observed in the patient with the following parameters Sigurd-Andersen’s nomogram: pH = 7,29; ρCO2 = 54,4 mm Hg; SB = 22 mmol/l; AB = 25,2 mmol/l; BB = 47 mmol/ l; BE = -2,4 mmol/l?

А. Compensated metabolic acidosis

В. Decompensated respiratory acodosis

С. Decompensated metabolic acidosis

Д. Decompensated respiratory acodosis
Е. Compensated respiratory alkalosis
What type of disturbance of acid-base balance will be observed in the patient with the following parameters Sigurd-Andersen's nomogram:   pH = 7,33; ρCO2 = 31,5 mm Hg; SB = 18 mmol/l; AB = 16,0 mmol/l; BB = 46 mmol/ l; BE = -8,0 mmol/l?
А. Decompensated metabolic acidosis.
В. Decompensated respiratory acidosis.
С. Subcompensated metabolic acidosis.
Д. Decompensated respiratory alkalosis.
Е. Subcompensated metabolic alkalosis.
What type of disturbance of acid-base balance will be observed in the patient with the following parameters Sigurd-Andersen's nomogram:   pH = 7,55; ρCO2 = 60 mm Hg; SB = 43 mmol/l; AB = 49,4 mmol/l; BB = 74 mmol/ l; BE = +19,2 mmol/l?
А. Decompensated metabolic acidosis.
 В. Decompensated respiratory acidosis.
С. Compensated respiratory alkalosis.
Д. Decompensated respiratory alkalosis.
Е. Decompensated metabolic alkalosis.
When hypokalemia will develop?
А. Systemic acidosis.
В. Deficiency of mineralocorticoids.
С. Diuretic phase of acute renal failure.
Д. Potassium release from damaged cells.
Е. Chronic renal failure.
What is the disturbance of acid-base balance develops under  ketoacidotic coma?
А. Metabolic alkalosis.
В. Metabolic acidosis.
С. Respiratory acidosis.
Д. Respiratory alkalosis.
Е. Norm.
What type of disorder of acid-base balance develops in hyperosmolar non-acidotic coma?
Metabolic alkalosis.
Metabolic acidosis.
Respiratory acidosis.
Respiratory alkalosis.
Norm.
?

What type of disorder of acid-base balance develops in hypoglycemic coma?
Metabolic alkalosis.
Metabolic acidosis.
Respiratory acidosis.
Respiratory alkalosis.
Norm.
?

The patient M., 67 years old in a coma. Diabetes mellitus type II for 8 years. Last 2 weeks was observed polyuria, polydipsia. Serum glucose level - 30 mmol/l, pH of arterial blood - 7,3, plasma osmolarity - 350 mosm/l. The diagnosis: diabetic hyperosmolar coma. What is the basic pathogenetic mechanism of coma?
Dehydration.
Hypocoagulation.
Hyponatremia.
Increased tubular reabsorption.
Increased glomerular filtration.
?
How does the level of blood electrolytes may change under ketoacidotic coma?
Sodium is in the norm, potassium is low.
Sodium and potassium are in the norm.
Sodium is in normal, elevated potassium.
Increased sodium, potassium decreased.
Sodium and potassium increased.
?

The patient has decompensated respiratory acidosis. Which parametr of acid-base balance will change under this conditions?
Reduction of concentration of true hydrocarbonats in blood (AB).
Increased index of buffer bases (BE).
Increase the parameter of partial pressure of carbon dioxide in arterial blood (ρCO2).
Increasing the amount of buffer bases (BB).
Arterial blood pH above 7.44.
?

Which of the options listed below corresponds to the normal value of ABB?
pH = 7.34; ρCO2 = 70 mmHg, BE = + 6.
pH = 7,6; ρCO2 = 30 mmHg, BE = - 2.
pH = 7.1; ρCO2 = 45 mmHg, BE = - 15.
pH = 7.4; ρCO2 = 28 mmHg, BE = - 10.
pH = 7.36; ρCO2 = 40 mmHg, BE = +1.
?

What is the mechanism for compensation of metabolic acidosis?
Reducing excretion of carbon dioxide by the lungs.
Hyperventilation.
Increasing of partial pressure of carbon dioxide.
Increased bicarbonate excretion by the kidneys.
Reduced excretion of chlorides.
?

Indicate which of the options presented are deviations acid-base equilibria corresponding metabolic alkalosis?
pH = 7.36; ρCO2 = 70 mmHg, BE = +6.
pH = 7,6; ρCO2 = 28 mmHg, BE = -2.
pH = 7.15; ρCO2 = 42 mmHg, BE = -15.
pH = 7.55; ρCO2 = 45.8 mmHg, BE = +15.
pH = 7.4; ρCO2 = 39 mmHg, BE = +1.
?

The patient has a previous diagnosis: "decompensated metabolic alkalosis. Which option of acid-base balance is characterize this situation?
Reduced blood pH.
Reducing the parametr of partial pressure of carbon dioxide in arterial blood (ρCO2).
Growth excess buffer bases (BE).
Reduced of buffer bases (BB).
Reduction of plasma standard bicarbonate (SB).
?

 Specify how to manifest lack of water in the body.
Increasing the volume of plasma.
Increased renal blood flow.
Stimulation of the renin-angiotensin-aldosterone system.
Reduced osmolarity of plasma.
Reduced concentration of serum proteins.
?

An obese 55-year-old male was awoken from sleep by severe pain in his right first metatarsophalangeal joint. The affected joint was hot, swollen, red and extremely tender. He was later treated with indomethacin and the symptoms healed rapidly. A year later, he had an episode of renal colic. Serum investigations revealed a urates level of 0.79 mmol/l. This is a classic presentation of:

Rheumatism

Arthritis

Gout

Osteoarthritis
?

Hypouricaemia is an uncommon metabolic disease caused by the following except:
Decreased urates synthesis

Severe liver diseases

Metabloic alkalosis

Fanconi Syndrome
?

Which of the following is an enzyme abnormality associated with hyperuricaemia?
Glucose-6-phosphatase deficiency
Phenylalanine hydroxylase deficiency
Uridyl transferase deficiency

-Galactose-1-phosphate deficiency
?

Urate handling by the kidney involves the following processes EXCEPT:
Tubular secretion
Tubular degradation

Tubular reabsorption
Glomerular filtration
?

A 40-year-old man presented with lassitude, weakness and weight loss. His skin was noticeably bronzed, although it was winter and he had not been out of the country. On examination, he was found to have hepatosplenomegaly, rather sparse body hair and small testes. On further questioning, he admitted that he had lost his libido and become impotent. Investigations showed:  fasting blood glucose – 10 mmol/l, serum iron – 70 umol/l, iron-binding capacity – 67 umol/l, ferritin – 5000 ug/l, LH – 2  U/l. Which of the following conditions best describes the patient’s condition?
Severe haemochromatosis

Iron deficiency

Microcytic anaemia

Rheumatoid disease
?
In which biological material we can determine myoglobin?
In liquor

In urine
In red blood cells
In renal tissue
?

All complications cause appearance of myoglobin in urine, EXCEPT:

Cystitis
Acute renal Failure
Muscular necrosis
Paresis

?

All tests are possible to distinguish myoglobinuria from hemoglobinuria, EXCEPT:

After coloring of blood serum
At times appearances of Mb in urine
On activity of CK in blood
On concentration of hemosiderine in urine

?

To which form of porphyrias it is possible to take such symptoms: child΄s age, enlarged spleen, hemolytic anemia, ulcer, scars, erythema of skin covers, hyper sensitiveness to the sun radiation, leucocytosis, increased temperature. Urine is colored due to the presence of uroporphyrine I:
Uroporphyria (Gyunter΄s illness)
Hepatic porphyria
Erythropoetic  porphyria
Coproprotoporphyria

?

All precursors of porphyrines have a diagnostic value, EXCEPT:

delta-ALA
Succinate
PBG
Porphobilin

?
A patient presented with severe unexplained abdominal pain, vomiting and constipation. He had muscle stiffness as well as occasional bouts of ceasures and sinus tachycardia. Excessive porphyrin precursors (ALA and PBG) were seen in the urine during an attack. Other examinations further confirmed that the patient suffers from:

Erythropoetic protoporphyria

Cutaneous hepatic porphyria

Congenital erythropoetic porphyria
Acute intermittent porphyria

?

Which of the following is not a clinical feature shown on the central nervous system in acute attacks of porphyrias:
Hysteria

Depression

Schizophrenia

Psychosis
?
A patient was admitted in the regional hospital with severe attacks of pain in the abdominal region, constipation and neurological disturbances like psychosis and occasional depression. After the detection of porphyrin precursors in the urine, a diagnosis of acute intermittent porphyria was made. Deficiency of which enzyme can be said to be responsible for this condition?

ALA dehydratase

PBG deaminase

Ferrochelatase

Uroporphyrinogen oxidase
?

An abnormal derivative of haemoglobin released from haemoglobin when red blood cells containing this pigment are haemolyzed but can be formed from free haem in severe intravascular haemolysis and also combines with albumin in the blood stream to form methaemalbumin  is:
Carboxyhaemoglobin
Haematin
Sulphaemoglobin
Methaemoglobin

?

The best non-invasive test for iron deficiency is the measurement of:
Red cell indices

Porphyrin level

Plasma ferritin
Osteocytes in bone marrow

?

Measurement of the iron-binding capacity is a functional measurement of:
Plasma ferritin

Haemoglobin

Red cell indices

Transferrin
?

The sources of purine nucleotides are the following EXCEPT:

Diet

De novo synthesis

Renal uptake

Tissue breakdown

?

One important parameter that is associated with the pathogenesis of gout is:
Hyperacidemia

Hypocystinuria

Hyperuricaemia

Hyponatraemia

?

The following are associated causes of hyperuricaemia EXCEPT:
Chronic renal disease

Increased purine synthesis

Tissue hypoxia

Increased renal excretion

?

Purine nucleotides are degraded into uric acid pool and excreted by which of the following mechanisms:
Tubular secretion

Renal excretion

Tissue breakdown

Liver enzyme catabolism

?
Old man underwent a medical examination. The only one revealed abnormality was increased activity of alkaline phosphatase in blood serum – 2,6 mmol/(h·l). All of the following may be a reason for increased activity of this enzyme, EXCEPT:
Osteomalacia
Paget's disease (osteitis deformans)
Non-malignant prostatic hypertrophy
Bone metastases
Liver metastases
?
Man of 54 years old suffers from protracted retrosternal pain, shortness of breath in quiescent state. Previous diagnosis is myocardial infarction. In order to confirm diagnosis activity of all of the following enzymes must be determined, EXCEPT:
LDH and its isoenzymes
CPK and its isoenzymes
Alkaline phosphatase and its isoenzymes
AsAT

alfa-hydroxybutirate dehydrogenase
?

Under which of the following diseases there is a next correlation of activity of enzymes: Amylase>> АlАТ > АsАТ ≈ Glutamate DH > CPK?
Myocardial infarction
Pulmonary embolism
Acute hepatitis
Acute pancreatitis

Cancer of pancreas
?
Patient suffers from chronic alcoholism. The activity of all of the following enzymes are increased in blood plasma, EXCEPT:
GGTP
Alkaline phosphatase
Acid phosphatase
AsAT
Glutamate DH
?
Patient of 55 years old was hospitalized with signs of poisoning of organophosphorous compounds. Laboratory test of activity of which enzyme must be determined in order to confirm diagnosis:
Choline esterase
Creatine kinase
Methemoglobin reductase
Amylase
UDP- glucuronil transferase
?
Determination of activity of which of the following enzymes is a specific indicator of liver parenchyma affection?
Alkaline phosphatase
AsAT
LDH
Sorbitol dehydrogenase
Amylase
?
Patient suffers from acute pain in thorax and abdomen. It was revealed an increased activity of blood serum enzymes: АlАТ > GGTP >> АsАТ > Amylase >> CPK. Which of the following is the most likely diagnosis in this patient?
Acute pancreatitis
Hepatocellular pathology
Renal colic
Myocardial infarction
Pulmonary embolism
?
Determination of activity of which of the following enzymes is used as marker of cholestasis?
АsАТ, АlАТ
Isoenzymes of LDH and CPK

Histidase, urokinase, sorbitol dehydrogenase
5- nucleotidase, GGTP, alkaline phosphatase
Lipase, choline esterase, arginase
?
For the examination of patients with blood diseases diagnostic value have all of the following enzymes, EXCEPT:

Glucose-6-phosphate dehydrogenase.

LDH isoenzymes.

Hexokinase.

Malate dehydrogenase isoenzymes.

Alkaline phosphatase isoenzymes.
?
In the case of which of the following diseases excretion of amylase with urine is decreased?

Acute pancreatitis.
Chronic relapsing pancreatitis.
Myocardial infarction.
Glomerulonephritis.
All answers are correct.
?

Patient was hospitalized. Laboratory test revealed an increased activity of alkaline phosphatase. This patient likely suffers from which of the following?
Hypothyroidism
Hemolytic jaundice
Obstructive jaundice
Fatty degeneration of liver
Acute pancreatitis
?
Under which of the following diseases there is an increased activity of GGTP in blood serum?
Prostatitis
Encephalitis
Pancreatitis
Cholestasis
Pyelonephritis
?

Activity of which of the following enzymes is decreased under the chronic hepatitis?
AsAT
GGTP
Choline esterase
LDH1
Sorbitol dehydrogenase
?
Serum analysis would most likely show an elevation of activity of aminotransferases in all of the following diseases, EXCEPT:
Viral hepatitis
Myocardial infarction
Hepatic colic
Renal colic
Acute pancreatitis
?
Determination of activity of which of the following enzymes is NOT used for differential diagnostics of jaundices?
Alkaline phosphatase
Acid phosphatase
Sorbitol dehydrogenase
Aminotransferase
GGTP
?

For examination of patients with kidney disease diagnostic value have all of the following enzymes, EXCEPT:

LDH isoenzymes.

Transamidynase.

Urokinase.

Acid phosphatase.

Leucinaminopeptydase.
?
For examination of patients with diseases of the pancreas diagnostic value have all of the following enzymes, EXCEPT:

Amylase.

Arginase.

Lipase.

Trypsin.

LDH isoenzymes.
?
For which organ glutamate dehydrogenase is an organospecific enzyme?
Lungs.
Kidneys.
Heart.
Pancreas.
Liver.
?
Patient of 28-years old suffers from diabetes mellitus during 6 months, he gets the injections of insulin. Patient has weakness, absence of appetite. In 2 weeks from the beginning of illness a patient noticed the dark colouring of urine, and afterwards jaundice and general condition of his health continued to get worse. Enlargememt of liver and spleen were revealed. Determination of activity of which of the following enzymes in a blood must be appointed for confirmation of diagnosis?
LDH
Amylase
AlAT
CPK
Acid phosphatase
?
The increase of activity of hyaluronidase was revealed in the blood serum of patient. Determination of which biochemical index of blood serum is used to confirm supposition about pathology of connecting tissue?

Galactose.

Bilirubin.

Uric acid.

Glucose.

Sialic acids.
?
It was revealed that a sample of blood plasma taken from a patient on an empty stomach was opalescent. All of the following may be a reason for lipaemic plasma, EXCEPT:
High concentration of chylomicrons.
High concentration of triglycerides.
High concentration of LDL.
Untreated diabetes mellitus.
High concentrations of VLDL.
?
A 55-year-old woman presents with crushing substernal chest pain and shortness of breath. A coronary artery is occluded due to an atherosclerotic plaque, and she is diagnosed with a having had a myocardial infarct. High serum HDL levels are protective against the development of atherosclerosis because HDL does which of the following?

Inhibits cholesterol production by the liver.

Inhibits HMG-CoA reductase.

Increases VLDL production.
Increases LDL production.

Brings cholesterol esters back to the liver.
?
What changes of blood biochemical parameters are observed under the excessive consumption of alcohol?
Increased content of LDL.
Increased concentration of triglycerides.
Decreased level of VLDL.
Decreased level of HDL.
Reduced cholesterol concentration.
?
A woman of 55 years old suffers from obesity. Laboratory analysis of blood revealed following results: blood plasma was opalescent (turbid), plasma was left undisturbed and after settling creamy supernatant layer was formed, under which serum remained muddy, total cholesterol - 7.5 mmol / l, holesterol of HDL - 1,5 mmol / l, LDL - 3,2 g / l, triglycerides - 4,5 mmol / liter. What type of hyperlipoproteinaemia are in patient?
I.
IIa.
IIb.
IV.
V.
?
By biochemical analysis it was revealed that the patient's blood plasma was slightly turbid, the concentration of lipoproteins was increased at the expense of beta- and pre-beta-lipoproteins, concentrations of cholesterol and triglycerides were sharply increased. What type of hyperlipoproteinaemia are in patient?
I.
IIa
IIb.
IV.
V.
?
In the case of which of the listed diseases there is a decreased cholesterol concentration in blood?
Diabetes mellitus.
Hyperthyroidism.
Atherosclerosis.
Jaundice.
Chronic glomerulonephritis with nephrotic component.
?
Specify a disease under which the level of phospholipids in blood serum is increased:
Atherosclerosis.
Severe form of acute hepatitis.
Chronic glomerulonephritis.
Fatty degeneration of liver.
All answers are correct.
?
Under biochemical analysis it was revealed that patient’s blood plasma was clear, and after electrophoresis an increased fraction of beta-lipoproteins was revealed, concentration of total cholesterol was increased (16.8 mmol / l) and triglyceride content was normal (1,1 mg / l). What type of hyperlipoproteinaemia are in patient?
I.
IIa.
IIb.
IV.
V.
?
Hypertriglyceridemia is characteristic for all of the following diseases and states, EXCEPT:
Obesity.
Alcoholism.
Diabetes mellitus of II type.
Hereditary hyperlipidemia.
Abetalipoproteinaemia.
?
It was revealed a significantly elevated level of LDL in the blood of patient who has a genetic defect of Apo-B100. Specify the main reason for this:
Violation of LDL interaction with their receptors.
Impossibility to activate lipoprotein lypase by LDL.
Reduced ability of LDL to activate the transfer of cholesterol into HDL.
Increased synthesis of LDL.
Failure of endocytosis after interaction of LDL with its receptor.
?
A 40-year-old man presents with severe pain in his legs upon walking. He is diagnosed with atherosclerotic plaques in the arteries of his legs. High levels of cholesterol and LDL contribute to the formation of atherosclerosis. Which of the following is digested to form LDL?

HDL.

Cholesterol.

Cholesterol esters.

IDL.

Chylomicrons.
?
Laboratory assistant noticed that the blood plasma of patient is lipaemic (milky). Specify the possible reason for this:
High concentration of LDL.
High concentration of VLDL.
High concentration of HDL.
High concentration of cholesterol.
Low concentration of chylomicrons.
?
Under which of the following diseases there are an increased triglycerides level in the blood serum?
Cholestasis.
Diabetes mellitus
Malabsorption.
Cerebral infarction.
Leukemia.
?
Investigation of the plasma lipid spectrum of a patient revealed that blood plasma was uniformly turbid after settling. The concentration of total cholesterol - 10,3 mmol / l, triglycerides - 3,2 mmol / l, LDL - 9,3 g / l, VLDL - 2,84 g / l. After separation of lipoproteins by electrophoresis a broad band between LDL and VLDL was obtained. What type of hyperlipoproteinaemia are in patient?
IIA. 
IIb. 
III. 
IV. 
V.
?
A men of 40 years old. From a case history father and mother of a patient suffer from cardiovascular diseases. Patient complains to frequent attack of stenocardia. Results of analysis: blood plasma is clear; cholesterol - 14.3 mmol / l, triglycerides - 1.7 mmol / l, cholesterol of HDL - 0,72 mmol / l. What type of hyperlipoproteinaemia are in patient?
I. 
IIa. 
IIb. 
IV. 
V.
?
In the case of which of the following diseases or states an increased level of cholesterol is observed in the blood?
Insulin intake.
Acute hepatitis.
Obstructive jaundice.
Fever.
Starvation.
?
In the case of which of the following diseases an decreased level of phospholipids is observed in blood serum?
Fatty liver degeneration.
Diabetes mellitus (severe form).
Hepatic coma.
Chronic glomerulonephritis.
All answers are correct.
?
Patient’s blood plasma is turbid, and after standing in refrigerator chylomicrons float to the surface, leaving turbid plasma under supernatant layer. What type of hyperlipoproteinaemia are in patient?
I.
II.
III.
IV.
V.
?
Which of the following conditions and diseases are accompanied with hypocholesterolaemia?
Nephrotic syndrome.
Hypothyroidism.
Insulin deficiency.
Heavy physical activity
Pheochromocytoma.
?
An 8-year-old boy presents with orange- colored tonsils, a very low HDL level, and an enlarged liver and spleen. He is diagnosed with Tangier disease. Tangier disease is a disease of cholesterol transport, such that cholesterol cannot properly exit the cell and form HDL. Which the following statements describes HDL?

It is produced in skeletal muscle.

It scavenges cholesterol from cell membranes.

Its major protein is apo E.

It is formed when VLDL is digested by lipoprotein lipase.

It activates acylCoA:cholesterol acyl transferase (ACAT).
?

Patient women of 58 years old, is suffering for a long time from rheumatoid arthritis and from a periodic loss of consciousness. She has a postural hypotension. The concentration of sodium in blood plasma is 128 mg/l, in random urine sample - 80 mmol / liter. Such changes may be in the case of all of the following diagnoses, EXCEPT:
Nephropathy caused by usage of analgesics.
An overdose of diuretics.
Adrenal hypofunction.
Excessive usage of purgatives.
All answers are correct.
?
Men of 62 years old was hospitalized with urinary retention. The concentration of urea in blood serum - 48 mmol / L, creatinine - 520 mmol / liter. About the diagnosis of chronic renal failure in patient may indicate all of the following features EXCEPT:
Reduced glomerular filtration rate of 15 ml / min.
Anemia.
Hypophosphatemia.
D. The small size of the kidneys in sonography.
E. High activity of alkaline phosphatase in serum.
?
Kidney stones were revealed in the patient. Factors that may lead to the formation of kidney stones are all listed, EXCEPT:
Increased concentration of calcium in urine.
Increased concentration of uric acid in urine
Increased concentration of oxalate in urine.
Increased concentration of copper in urine
Stagnation of urine (because of obstruction).
?
The middle-aged man is suffering from a renal colic. Possible cause of the disease can be assumed on the basis of all observed symptoms, EXCEPT:
Signs of malabsorption, which lead to oxaluria.
Xanthomatosis of tendons.
At a case history - arthritis of big toe of leg (last year).
Hypercalcemia.
Hyperuricemia.
?
What violation is reason of renal glucosuria?

Reabsorption of glucose in the distal tubules of kidneys.
Reabsorption of glucose in the proximal tubules of nephron.
Filtration of glucose through intact kidney filter.

Secretion of glucose by a renal epithelium.

Digestion of polysaccharides.
?
The consequence of what process is a renal proteinuria?

Dysproteinemia.

Availability of kidney stones.

Ingress of fluid in the urine with inflammation of the ureters.

Violation of filtration and reabsorption of proteins.

High concentration of Bence Jones proteins.
?
At which disease or condition there is an alkaline reaction (alkaline pH) of urine?
Cystitis.
Pyelonephritis.
Acute glomerulonephritis.
Diabetes.
Starvation.
?
Patient K. , 46 years old,  was hospitalized on the second day after mushroom poisoning with complaints of general weakness, nausea, headache, yellowness of skin, the appearance of brown-colored urine. Blood pressure 170/110 mm Hg., liver 3 cm. Urine analysis: specific gravity 1039, protein 0.78 g / liter., a large number of red blood cells. Creatinine and urea are increased in 7 times. What is the most likely diagnosis?
Toxic glomerulonephritis.
Toxic gastritis.
Toxic pancreatitis.
Acute enteritis.
Acute renal failure.
?
What changes of diuresis are characteristic for acute renal failure?
The increase of daily diuresis.

Reduction or complete cessation of urine output.
Predominance of night diuresis.

Frequent urination.

None of the above answers is correct.
?
For a patient a glucosuria is diagnosed. The reasons for such changes may be all listed factors EXCEPT:
Use of excessive amounts of carbohydrate meal.

Injection of adrenaline.

Acute pancreatitis.

A high renal threshold for glucose.

Usage of corticosteroids.
?
Which of the following diseases is characterized by bilirubinuriya?
Subhepatic jaundice.
Hemolytic jaundice.
Urolithiasis.
Chronic nephritis.
Parenchymal jaundice.
?
Which of the following diseases is characterized by hemoglobinuria?
Acute nephritis.
Cystitis.
Parenchymal jaundice.
Hemolytic anemia.
Renal amyloidosis.
?
Which of the following diseases is accompanied by oliguria?
Chronic glomerulonephritis.
Pyelonephritis.
Nephrotic syndrome.
Acute renal failure.
All answers are correct.
?
Which of the following diseases is accompanied by appearance of ketone bodies in urine?
Acute glomerulonephritis.
Urolithiasis.
Diabetes.
Tuberculosis of the kidney.
Hemolytic jaundice.
?
In a pregnant woman blood pressure is 180/100 mm Hg., swelling, daily diuresis 400 ml, relative density of urine is 1.030, acid reaction, 8 g protein/liter, in the sediment there are single red cells and white blood cells. This woman likely suffers from which of the following?
Acute glomerulonephritis.
Pregnant nephropathy.
Acute pyelonephritis.
Acute cystitis.
Acute renal failure.
?
What biochemical index is the most informative for the estimation of glomerular filtration in the kidneys?
Urea.
Endogenous creatinine.
Exogenous creatinine.
Indican.
Uric acid.
?
Renin secretion in the kidney is stimulated by all listed factors EXCEPT:
By the reduction of pressure in glomerular arteries.
By the reduction of sodium in distal tubules of kidneys.
By the excitation of the sympathetic nervous system.
By the increased blood pressure in the body.
By the reduction of renal blood flow.
?
Patient M., 24-years-old is suffering from a chronic glomerulonephritis. Results of analyses: urine relative density  - 1,010 kg/liter, urine protein  - 1,63 g/liter; creatinine of blood - 0,350 mmol/liter, serum sodium - 148 mmol/liter. What is the main reason of azotemia  in a patient?

Reduced renal blood flow
Increased proteinuria.

Reduced tubular reabsorption.

Delay of sodium in the body.

Reduced glomerular filtration.
?
Excretion of which substances in urine does increase for patients with amyloidosis?
Creatinine.
Ketone bodies.
Glucose.
Urea.
Glycoproteins.
?
Patient was hospitalized with acute glomerulonephritis. Reduced glomerular filtration under these conditions is one of the most important mechanisms that cause the delay in the body:
Calcium.
Potassium.
Sodium.
Iron.
Copper.
?
A 23-year-old man develops steatorrhea, weight loss, and a bloody diarrhea. He notes that the diarrhea is worse when he eats breads or cereals. A gastroenterologist performs a biopsy during a colonoscopy, which reveals celiac disease. This disorder is most directly due to which of the following?

Excess lipids in the feces

Deficiency of enterokinase

Defective transport of the amino acid cysteine

A defect in the transport of neutral amino acids

Hypersensitivity to the protein gluten
?
A 3-year-old child presents to the pediatrician for failure to thrive. A workup including an ultrasound of his liver shows cirrhosis. A biopsy of the liver demonstrates a deficiency of an enzyme involved in glycogen synthesis. Which of the following is the most likely glycogen storage disease that affects this child?

Type I: von Gierke disease

Type II: Pompe disease

Type III: Cori disease

Type IV: Andersen disease

Type V: McArdle disease
?
An infant was brought into the emergency room after her parents witnessed her having a seizure. The child's blood glucose was 2,8 mmol/L. After a thorough workup, a glycogen storage disease (GSD) is suspected, and a muscle biopsy is significant for the accumulation of dextrin, a form of glycogen with branching limited to only a few glucose molecules. Which of the following GSDs is most likely the cause of the hypoglycemia and subsequent seizure?

Type I: von Gierke disease

Type II: Pompe disease

Type III: Cori disease

Type IV: Andersen disease

Type V: McArdle disease
?
A 5-year-old, mentally retarded child is seen by an ophthalmologist due to "blurry vision." Ocular examination demonstrates bilateral lens dislocations. On further work-up, imaging is significant for osteoporosis, and a urine analysis is remarkable for an accumulation of homocysteine. Serum analysis would most likely show an elevation of which of the following substances?

Tryptophan.

Valine.
Phenylalanine.

Tyrosine.

Methionine.
?
A 2-year-old girl was seen in the emergency room for vomiting and tremors. The elevated plasma ammonium ion concentration was 195 pM (normal, 11-50 pM). Metabolic screens of serum and urine were ordered and were remarkable for an elevation in the amino acid arginine in serum. You conclude that this patient may have a defect in which of the following enzymes?

Carbamoyl phosphate synthetase I.

Carbamoyl phosphate synthetase II.

Ornithine transcarbamoylase.

Arginase.

Argininosuccinate lyase.
?
A couple of African-American descent gives birth to a boy after an otherwise uneventful pregnancy. The child is exceptionally fair-skinned and has almost white hair. Further exam reveals red pupils. A postnatal screen is likely to confirm the deficiency of which of the following enzymes?

Peroxidase.

Inducible nitric oxide synthase (iNOS).

Glutathione reductase.

Tyrosinase.

S-Adenosylmethionine.
?
A 4-day-old infant develops severe jaundice and is transferred to the neonatal intensive care unit for aggressive phototherapy. He is found to have complete lack of uridine diphosphate glucosyl transferase. Which of the following disoders does the infant have?

Crigler-Najjar syndrome.

Lesch-Nyhan syndrome.

Dubin-Johnson syndrome.

Hereditary orotic aciduria.

Gout.
?
Which technique is best to separate oxygenated normal HbA from oxygenated sickle cell hemoglobin (HbS) (assuming no protein aggregation) from a patient coming into a clinic?

Native gel electrophoresis.

Spectrophotometry.

Gel filtration.

Affinity chromatography with a C-terminal antibody.

Ultracentrifugation.
?
A 5-month-old infant presents with spasticity and seizures. On exam, the infant is found to be hypertonic (excessive muscle tone) and hyper-reflexic (excessive reflex response). β-galactosidase levels are found to be abnormally low, and he is diagnosed with Krabbe disease. This disease causes accumulation in cells:

Glycoproteins.

Sphingolipids.

Ketone bodies.

Phosphoproteins.

Triacylglycerols.
?
What changes in biochemical indexes are not result of violations of phenylalanine and tyrosine metabolism?
Phenylketonuria.
Tyrosinosis.
Indicanuria.
Albinism.
Alkaptonuria.
?
A newborn is experiencing failure to thrive. On physical exam, organomegaly is appreciated due to accumulation ot glycogen in the lysosomes of several organs, including the heart, muscle, and liver. You diagnose the patient with Pompe disease. Which of the following biochemical deficits are seen in this disorder?

Glycogenin deficiency

An α-1,6-glucosidase deficiency

A glucose 6-phosphatase deficiency

A glycogen phosphorylase enzyme deficiency

A lysosomal glucosidase deficiency
?
A 24-year-old student is training for the track and field events at her college. She presents to her physician with complaints of severe muscle cramps and weakness when training. Muscle biopsy demonstrates glycogen accumulation, but liver biopsy is unremarkable. Which of the following is the most likely diagnosis?

Andersen disease

Cori disease

McArdle disease

von Gierke disease

Hers disease
?
A 14-day-old neonate fails to gain weight during infancy despite breast feeding. Although concerned, the mother continues to breast feed and wait. The infant subsequently develops cataracts, an enlarged liver, and mental retardation. Urinalysis is significant for high levels of galactose in the urine, as well as galactosemia. What food product in the baby's diet is leading to her symptoms?

Fructose

Lactose

Phenylalanine

Glucose

Sorbitol
?
A 5-year-old child presents with Hurler syndrome, which is characterized by dwarfism, hunchback, coarse facies, mental retardation, clouding of the cornea, and sensorineural deafness. The patient also has organomegaly due to the accumulation of which of the following?

Glucocerebroside.

SphingoIipids.

Heparin sulfate and dermatan sulfate.

Glycogen.

Galactose 1-phosphate.
?
In a 39-year-old woman who just gave birth, chorionic villus sampling was performed, and a battery of genetic panels was assessed on the newborn. One marker indicated a defective cystathionine beta-synthase. Which of the following compounds would you most likely expect to be elevated in the blood of the infant at birth if the mother was not treated properly?

Glutarate.
Methionine.
Valine.
Threonine.
Glutamate.
?
A new test is developed that can nonradioactively "label" compounds in the human body. As a physician with a background in the new field of metabolomics, you assess a 21-year-old with classical phenylketonuria. Phenylalanine is fed with a label in the phenyl ring. In the urine, in which of the following compounds would you expect to find the greatest amount of label?

Tyrosine.

Tryptophan.

Epinephrine.

Phenylketone.

Acetate.
?
A 7-year-old boy suffers from mental retardation and self-mutilation (e.g., bitting through lip) and has an increased susceptibility to gout. These symptoms are characteristic of Lesch-Nyhan syndrome, which is due to a mutation in which of the following?

Salvage pathway for pyrimidines.

De novo biosynthesis of purines.

Xanthine oxidase.

Salvage pathway for purines.

De novo biosynthesis of pyrimidines.
?
An otherwise healthy 19-year-old man recovering from a respiratory infection sees his family physician. His exam is unremarkable except for a slight degree of yellow discoloration to his skin and eyes. Labs are ordered that reveal a mild increase in unconjugated bilirubin but no other abnormalities. Which of the following is the most likely diagnosis in this patient?

Crigler-Najjar syndrome, type I.

Crigler-Najjar syndrome, type II.

Gilbert syndrome.

Lead poisoning.

Erythropoietin deficiency.
?
An infant presents with neonatal jaundice. After several weeks, the jaundice becomes more exaggerated. The patient has an enzyme deficiency that inhibits conjugation of bilirubin. Which of the following reacts with bilirubin to conjugate it?

Vitamin C

Iron.

Ceruloplasmin.

Porphyrin ring.

UDP-glucuronate.
?
A 6-month-old infant presents with stools that are pale colored, bulky, and foul smelling. Deep tendon reflexes are absent, his vision is poor, and he has difficulty walking. He is diagnosed with abeta-lipoproteinemia, causing an inability to make and transport an apolipoprotein. His serum level of LDL and VLDL are found to be abnormally low. Which of the following apolipoproteins is most likely to be deficient?

ApoAI
ApoB

ApoCII

ApoE
ApoAII
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